Algebra 1 9.2 Notes — Solving Quadratics by Factoring
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Ex. 1: Solve the quadratic. (x—9)(5x+2)=0

L/ \ 1) For a-b=0 , either a or b equals 0. So with that logic,
Xx-A4=0 _ either (¥—9)=0 or (5x+2)=0

N Garaco (£-9)=0 or (5x+2)

-2 — 2

a 2) Determine what value of x makes the factor equal zero by
% =9 B_’f = - setting the factor equal to zero.
3) Solve each factor for x.
% = Q/S'

Ex. 2: Solve the quadratic. (2x—1)(x+3)=0

Ax-\z O x*3=0
r) o+ -3 3
Ax =L
= 3
X = ‘/,) X = -3
Ex. 3: Solve the quadratic by factoring. x” +9x =—20
‘ 1o +20o
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Ex. 3: Solve the quadratic by factoring. 2x* —x—3=0

2 -— :b
\Qx - Zx ¥ 2AX _%
menz -6 | mtn = ~| (A= - 3) 1 (ax-3)=0
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“3.2: -6 Lﬂ (ax-3)(x¥ =0
I 3:9 XY \=0
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You Try! Solve by factoring: x* —x =20
xl ’\x_ - 10 - D

W nz-20 \ wen = -\ (% —9) CX’\’ A)= O
I— _
BESTY —\ x-G=0 X"':'_OL\
¥S +5

1) Factor and find the x-intercepts.

2) Plot the x-intercepts

3) Find the vertex and graph.
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Ex. 5: Write the factored form of the quadratic given the graph.

Solwhiens © (3.0), (2.0)

g(ﬂ): (X”J) (X 'q)




